SAP ABAP table T8J6F {JV JIB Subclass B Codes Text Table}

TOO0O
MANDT [CLNT (3)]

T8J6F-CLIENT = TOOO-MANDT  _ 0-N

TOO1

MANDT [CLNT (3)]
BUKRS [CHAR (4)]

e T002
TBJ6F-SPRAS = TO02-SPRAS 4~ [SPRAS [LANG (1)]

1---- TS_JE_;F_]—I]%C_L = T8J6A-CLASS T8J6A
___________ MANDT [CLNT (3)]

BUKRS [CHAR (4)]
CLASS [CHAR (3)]

T8)6C

~

0..

~

N

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

SUBCLASS [CHAR (5)]

T8)6E

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

JIBCL [CHAR (3)]

J/IBSA [CHAR (5)]

|IBSB [CHAR (24)]




